570



H H18 H19 H20 H21
2,517 2,555 2,593 2,635 2,674
192 153 126 104 89
50 148 298 448 548
38 30 30 30 30
473 531 539 509 515
A 3,270 3,417 3,586 3,726 3,856
18 17 1.5
20 1.6
17
17
H H18 H19 H20 H21
1,010 1,015 1,041 999 970
340 345 352 358 365
559 671 662 647 656
200 233 224 214 221
1,259 1,340 1,509 1,648 1,706
B 3,368 3,604 3,788 3,866 3,018
C-A-B ~98 | -187] _ -202] _ -140 ~62 |
-591
4
D 98 | 150 | 150 | 700 | 0]
E=_(C+D) - 37 52 40 62
17 18 19 20 21
611 504 559 644 691
148 298 448 548 548
H=F-G 463 206 111 96 143




H17 H18 H19 H20 H21
87 74 54 53 58
-14 -24 -34
54 56 55 56 54
-8 -15 -27
68 68 68 68 68
57 57 57 57 50
15 15 15 15 15
281 270 227 210 184
891

H18 H19 H20 H21
10 20 20 20
(39) (49) (59) (59) (59)
20 45 85 120

109
(109) (129) (154) (194) (229)
5 10 15 20

17
(a7 (22) 7 (32) (37)
10 20 30 30

43
(43) (53) (63) (73) (73)
20 50 60 80

112
(112) (132) (162) (172) (192)
65 145 210 270
(320) (385) (465) (530) (590)
(300) (370) (460) (510) (570)

4 (-591) - (891) - (65+145+210+270) -2,172 |






